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QID : 401 - In the following question, select the related word pair from the given alternatives.

Frefeatae e # 5T v farmenl # o w6t = g9 91 g |

) s B
Options:
1) Sun : Heat

2) Earth ; Planet

el TR

3) Land : Solid
-3

. .

4) Water : Drink

el - T

Correct Answer: Earth : Planet

=T TE

Candidate Answer: [ NOT ANSWERED |

QID : 402 - In the following question, select the related word pair from the given alternatives.

Options:

1) Rectangle : Five

AT U

2) Hexagon : Seven

e - HTd

3) Rhombus : Six

THEGY : B8

4) Triangle : Three

P - ol

Correct Answer: Triangle : Three
P dH

Candidate Answer: Triangle : Three

e MGG
QID : 403 - In the following question, select the related word from the given alternatives.
Forest : Trees : : Book : ?

Frefeafae we 7 fag v frmet # @ wefta o= @1 3|

agE g L ?
Options:

1) Pages

L

2) Bind

Res

3) Writer

G ECES

4) Pen

Ferl

Correct Answer: Pages

=

Candidate Answer: Pages
T

QID : 404 - In the following question, select the related letters from the given alternatives.
TRAP : YWFU :: FROG: ?

Frefafad weT # o T fawedl § @ w4t st w1 3fm)

TRAP : YWFU :: FROG: ?
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Options:
1) KHLG
2) KWTL
3) WKLH

4) FGHL

Correct Answer: KWTL

Candidate Answer: [ NOT ANSWERED |

QID : 405 - In the following question, select the related letters from the given alternatives.
FAN:MZU::LIP:?

Frefafad v 4 fag e faswed! # % Hdfta st w1 gfm

FAN:MZU::LIP:?

Options:

1) FGA

2) KRO

3) ANP

4) TSQ

Correct Answer: KRO

Candidate Answer: KRO

QID : 406 - In the following question, select the related letters from the given alternatives.
AM:FR::LQ:?

Frefafad v # o Ty fawedl § @ H4fta st w1 gfm)
AM:FR::LQ:?

Options:

1) HQ

2) NP

3)Qv

4) LS

Correct Answer: QV

Candidate Answer: QV

QID : 407 - In the following question, select the related number from the given alternatives.
46:24::54:7

Frefafad w4 fan v fawedl # @ Hdfta den w1 gim)

46:24::54:7

Options:

1)30

2) 24

3)20

4) 36

Correct Answer: 20

Candidate Answer: 20

QID : 408 - In the following guestion, select the related number from the given alternatives.
11:24::23:7

Frefeatae weet # fag g famed] o < weiae wem o ghw |

11:24::23:7
Options:
1) 42

2) 36

3) 54

4)58

Correct Answer: 36

Candidate Anawer: | NOT ANSWERED |

QID : 409 - In the following question, select the related number from the given alternatives.
Br1h 77

Frefafae w7 fag v famedt o o wefa o w1 ghw|

5:15::7:?
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Options:
1) 28

2) 21
3) 37

4) 25
Correct Answer: 21
Candidate Answer: 21

QID : 410 - In the following question, select the odd word pair from the given alternatives.

Frifertad we 9 fau v et o o fow e g @1 ghw |
Options:

1) Pen - Write

e — T

2) Ball - Play

g — wer

3) Food - Eat

HIEA ~ @l

4) Pencil - Stationery

Uiel — e |l

Correct Answer: Pencil - Stationery
e — erE wrr

Candidate Answer: [ NOT ANSWERED |

QID : 411 - In the following question, select the odd word from the given alternatives.

Freafeafae weT i 5 ¢ et # ¥ fawr w= e gfm)
Options:

1) Road

WEd

2) Truck

Exd

3) Car
PR

4) Scooter

X

Correct Answer: Road
HEH

Candidate Answer: Road
SEED

QID : 412 - In the following question, select the odd word from the given alternatives.

Frefefad we 4 fav My faewmeut # 4 faw o &1 gim
Options:

1) Rice

Arael

2) Wheat

3) Maize
B EEal

4) Crop
HHA

Correct Answer: Crop
e

Candidate Answer: Crop
T

QID : 413 - In the following question, select the odd letters from the given alternatives.

Frefafas e # fag e famedl § % fawr st 31 g
Options:
1) GJM

2) HKN
3) MPS

4) NQU
Correct Answer: NQU
Candidate Arswer: NQU

QID : 414 - In the following question, select the odd letters from the given alternatives.

Frrifafad we ¥ fan T faspedl § 9 fawr aamt 31 g
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Options:
1) LQVA

2) AFKQ
3) CHMR

4) MRWB
Correct Answer: AFKQ
Candidate Answer: LQVA

QID : 415 - In the following question, select the odd letters from the given alternatives.

Frfetae we i o e fameat fawr evami 21 3o
Options:
1) VRNJ

2) cYUQ
3) KGCX

4) SOKG
Correct Answer: KGCX
Candidate Answer: KGCX

QID : 416 - In the following question, select the odd number from the given alternatives.

Frfefae wet 7 fag v fament # o foror v =1 gfm |
Options:

1H)2-12

2)5-28

3)4-24

4)3-18

Correct Answer: 5 — 28

Candidate Answer: 5 — 28

QID : 417 - In the following question, select the odd number from the given alternatives.

Frefafae wet 7 fag e famen! # o foret v 1 gfm |
Options:

1)11-13

2)13-17

3)17-19

4)11-15

Correct Answer: 11 - 15

Candidate Answer: [ NOT ANSWERED |

QID : 418 - In the following guestion, select the odd number pair from the given alternatives.

Preffia e 9 g 1o frevedt # & fawr wem g 1 g |
Options:
N4-12

2)5-15
3)6-18
4)9-29

Correct Answer: 9 — 29
Candidate Answer: 9 — 29

QID : 419 - Arrange the given words in the sequence in which they ocecur in the dictionary.

1. Series
2. Singing
3. Secure
4, Sickle
5. Secured

Frefetiad ol &1 Sregaie # o arel 5 &6 A faed |

1. Series
2. Singing
3. Secure
4, Sickle
5. Secured
Options:
1) 35142
2) 53142
3) 35124
4) 53124
Correct Answer: 35142

Candidate Answer: 35142
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QID : 420 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Drive
2. Drown
3. Drain
4. Drink
5. Drama

Friferfad sl o1 IeaHie 3 A arel T & AR o |

1. Drive
2. Drown
3. Drain
4. Drink
5. Drama
Options:
1) 35421
2) 35412
3) 35214
4) 35211
Correct Answer: 35412

Candidate Answer: 35412

QID : 421 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Price
2. Prize
3. Police
4, Paint
5. Prawn

Friferfad =i o1 IEeHe 3 S arel T & AgER o |

1. Price
2. Prize
3. Police
4. Paint
5. Prawn

Options:
1) 45123
2) 45213
3) 43521

4) 43512
Correct Answer: 43512
Candidate Answer: 43512

Page 5

QID : 422 - A zeries is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AG, FM, KS, PY, ?

TE oA fa g, fored 9 U ug o B | faw T fasmet # F 98 el femen g, o g B IR e |
AG, FM, KS, PY, ?

Options:

1) RM

2) UE

3)JQ

4) YA
Correct Answer: UE
Candidate Answer: UE

QID : 423 - A series is given wiih one term missing. Select the correct alternative from the given ones that will complete the series.

ALK, VGF, QBA, ?, GRQ
T argepd A T &, T ¥ 0= e € | ey T Rt 7 ¥ 9% we foeen ghh, 9 egea et e |
ALK, VGF, QBA, 7, GRQ

Options:

1) KST

2) ARP

3) CXD

4} LWV
Correct Answer: LWV
Candidate Answer: LWY
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QID : 424 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

KPD, QVJ, WBP, CHV, ?
T argeRd i T g, R 9 U ue g | fav T fasedt # & 98 9E fawen i, 9 orgeE ST E |

KPD, QVJ, WBP, CHV, ?
Options:

1) INB

2) GXF

3) ICM

4) ZDQ
Correct Answer: INB
Candidate Answer: [ NOT ANSWERED ]

QID : 425 - In the following guestion, select the missing number from the given alternatives.
3,7,11,63,27,215,7,7
Frefafae we 7 i e et # ¥ @ afe sma Hifav |

3,7,11,63,27,215,7,?

Options:

1) 47,513

2) 51,511

3) 51,513

4) 47,511

Correct Answer: 51, 511

Candldate Answer: [ NOT ANSWERED ]

QID : 426 - In the following guestion, select the missing number from the given alternatives.
18, 45,112.5,7,703.125
Frefefae weT 7 &g e fame! # ¥ = ofe sma Hifaw |

18,45,112.5,7,703.125
Options:

1)217.5

2) 262.25

3) 281.25

4) 273.75

Correct Answer: 281.25
Candidate Answer: [ NOT ANSWERED |

QID : 427 - In the following question, select the missing number from the given alternatives.
30, 68, 130, 222, 350, 7
Frefafad v 4 fag e fawed! # 9 g afF sma Hifao |

30, 68, 130, 222, 350, 7

Options:

1) 504

2) 520

3) 476

4) 448

Correct Answer: 520

Candidate Answer: [ NOT ANSWERED |

QID : 428 - Seg CD is shorter than Seg M, Seg MN is shorter than Seg TR, Seg AB is shorter than Seg CD and Seg MN is shorter than Seg PQ. Which segment is the
shortest?

e CD @s MN 9 g1 &, @ MN ®s TR ¥ 2ier &, @< AB Ee CD 9 91eT § 4k @3 MN @3 PQ ¥ BT & 1 9a BieT de 29 w1 &7
Options:
1)CD

2) MN
3)PQ

4) AB
Correct Answei: AR
Candidate Answer: [ NOT ANSWERED |

QID - 429 - A is B's father's father's daughter-in-law's daughter. If B's father has no brother then how is A related to B?

A, B & firen & {4a1 1 95 &1 501 & | 2 B % fiw 1 3 w1s T2 8, 1 A, B % fipw e wafia 82
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ptions:

1) grand-daughter

EInil

2) daughter
ECf

3) mother

=i

4) sister

qE1

Correct Answer: sister

qE

Candidate Answer: [ NOT ANSWERED |

QID : 430 - From the given alternative words select the word which cannot be formed using the letters of the given word.
RECUPERATE
Frfefae fapedi 7 9 98 5= IRTT 91 757 717 7155 & S0 &1 T4 B T8 T W] 6l

RECUPERATE
Options:
1) acute
2) trace

3) price

4) erupt
Correct Answer: price
Candidate Answer: price

QID : 431 - If TUESDAY is coded as VWGUFCA, then how will COW be coded as?

afy TUESDAY 1 %18 # VWGUFCA fazar wran & 5 COW 1 %1g # 1 fagin?
Options:

1) EQY

2) XLD

3) BNV

4) DPX
Correct Answer: EQY
Candidate Answer: EQY

QID : 432 - In a certain code language, 2369 means 'master class is fun, 9527 means ‘act is class apart' and 1349 means 'we have fun class'. Find the code for 'fun'.

Terelt PP wre w1 2360 @ o & 'master class is fun, 9527 %7 &9 & ‘act is class apart’ 3w 1349 =7 &1¢f & 'we have fun class'l fun' % fee o sma @t |
Options:

1)2

2)6

3)3

49
Correct Answer: 3
Candidate Answer: 3

QID : 433 - In a certain code language, '+’ represents -, - represents 'x, 'x' represents =’ and '+’ represents *+'. Find out the answer to the following question.
16-25x40+60+15=7
Tereft Pfgo &8 W A '+, Y ST WERid Sl B Y, ) T UeRia wmRar g, X, ' B veitie e  de s, ' w1 aehie s ) frefaied v w1 9w e 592

16-25x40+60+15=7
Options:

1)14

2)72

3)55

4) 63

Correct Answer: 55
Candidate Answer: 55

QID:434-1f72520=46and 1 5 27 = 14 then find the value of 105 44 =7

g 72820 =463 1527 = 14110 § 44 = ? 31 74 77 BE?
Options:

1) 34

2) 54

3)27

4H17

Correct Answer: 27

Candidate Answer: [ NOT ANSWERED ]
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QID: 435-If A5 B means Ais son of B, A # B means A is brother of B and If A* B means A is father of B, then what does P # Q $ R * S mean?

TG ASBE At P ABF AL A#BT o e A BT E R afe A*Baraf 2 fr A BoIRrm e P# QS R*Swaar aref &7
Options:

1) Pis father of S

P.S &y

2) P is father's father of S

P. S < firan =1 firan ¥

3) Pis brother of S

P, S %19 &

4) Pis son of §

PS@igas

Correct Answer: P is brother of S

P S U §

Candidate Answer: [ NOT ANSWERED ]

QID: 436 -

Select the missing number from the given responses

o g el & ow ST g

Options:
1)2

2)11
3)1

4)10
Correct Answer: 10
Candidate Answer: 10

QID : 437 - Which of the following terms follows the trend of the given lisi?
AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAALS,
Triferfad ¥ 9§ 919 w1 95 a1 T T 6 T B AgEN 27

AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
Options:

1) AAAAAABA

2) AAABAAAA

3) AAAABAAA

4) AAAAABAA

Correct Answer: AAABAAAA

Candidate Answer: AAABAAAA

QID : 438 - A Shopping mall worker loads his trolley and walks 50 m through an alley which is going North, then he turns to his left and walks 15 m, then he turns
South and walks another 15 m, then he turns East and walks 25 m and then he turns south and walks 35 m. Where is he now with reference to his starting position?

TR Aiet # w1 S 91l T =fa @t giel B 9Raw 50 Hex 9w 6 & o o # 1 firy gw 9 @) geey 15 Wiey gern # 1 99E 915 98 <o i 6N geey 15 Wew Tedr g,
ip 78 25 e 7d H o7 T § ol {5 Sk 61 o gt 35 e 7% T & | o 98 o wrifes fRufy 3 frw Rufy g2
Options:

1) 10 m West

10 Hrex e

2) 10 m East

10 wWrex @

3) 40 m East

40 e @

4) 40 m West

40 e ufFm

Correct Answer: 10 m East

10 #rex g4
Candidate Answer: [ NOT ANSWERED |

QID : 439 - Two battle tanks start from the same point. Tank A travels 12 km South, then turns to its left and travels 7 km. Tank B travels 7 km South, then turns West
and travels 9 km, then turns to its left and travels 5 km. Where is tank A with respect to tank B?

<1 g T Tw E g ¥ o wew o € 1€w A, 12 Reenfiex sfim B $iw e # i fr 918 o) Teev 7 franies T # 1& B, 7 frainiex sfim $t sk e # sl five
ufFam i 3% Tt 9 freniey e , firt oot o1 o) e 5 frdiniicr gam #1865 B & wed 1 €5 A 9wl &7
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1) 16 km West
16 farites offaw
2) 2 km East
2 fopmmes qd
3) 2 km West
2 fepeiriey ufgaw
4) 16 km East
16 freifies @
Correct Answer: 16 km East
16 farmrites g

Candidate Answer: [ NOT ANSWERED |

QID : 440 - In the guestion two statements are given, followed by two conclusions, | and Il. You have to consider the statements to te true aven if it zeems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No cats are dogs
Statement II: Some cats are carnivores
Conclusion I: All dogs are carnivores
Conclusion II: All carnivores are dogs

e # g1 s g 4 £ R e 31 frsed | @i || Freprer ¥ | anuest ATeAT § i 919 we W ¥ AT 98 weTga: 9 9l § e welie g B et Froa s & 6 fye
Pt # & B-w/FE-9 FiP9a w0 @ U= 5100 w9 Freren o e /9 €, afs 9 al

YA |: TS faced! g Tl &
e |1 T Fafeeat Aiemer ¥

Forsee | el oy wiwTETT ¥

Pregd 1: wrft wriemeT o E

Options:

1) Only conclusion | follows

et Py | Y &

2) Only conclusion || follows

e et || wEr

3) Both conclusions | and Il follow

=i e | afre 1 wéT d

4) Neither conclusion | nor conclusion |l follows
1 o1 e | w8t & =71 2 Pt N

Correct Answer: Neither conclusion | nor conclusion Il follows

=1 A1 P | T & 1 € Fevmd )
Candidate Answer: [ NOT ANSWERED ]

QID : 441 - In the guestion three statements are given, followed by three conclusions, |, Il and lil. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No bronze is copper
Statement Il: Some alloy is bronze
Statement Ill: Some zinc is alloy

Conclusion I: Some zinc is bronze
Conclusion Il: Some copper is zinc
Conclusion lIl: some alloy is copper

W ¥ O e fad T & forerd et i frsed |, 11 @i 111 Foreprer ¥ | s e & i oS pe e & A O S we g2 | e i B e | arae ot o & 6 R e
Forsgef # & FH-T/FE-Y Ffeea B0 wuq g wd Heren o vwa e ¥, s an

Fo |: 1 draa aier T
For |l $% urg fraer &
T I 9 o uTg ¥

e |: 3o v daa ©

forsgd I1: o T wrew #

Fored 111 37w g T

Options:

1) Only conclusions | and |l follow
et frree | S 11wt &

2) Only conclusions Il and I1l follow
et e 11 o 11] wet &

3) All conclusions |, I and Il follow
1t e |, 11 s 111wt &

4) None of the conclusions follow

T e |, 11 @i 1) et =T e

Correct Answer: None of the coniclusions follow

A sl |, 11 3 1] ey =1 &
Candidate Answer: [ NOT ANSWERED |
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QID: 442 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

feraforRae SR amefer F & @i &1 & fay 1g oy
STTPRT & ot & A FRIT e ST HebelT?

Options:

1
2
3

4

%

Correct Answer:

www.ErForum.Net
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Candidate Answer:

L

QID : 443 -
Which of the following answer figure patterns
can be combined to make the question figure?
freferfae S ampfy & @ i & pfereai @t
Sirgens T T e SRRy 1 gAY S He 7

Options:

U]

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED |

QID : 444 -
In the following figure, square represents
astronauts, triangle represents swimmers,
circle represents women and rectangle
represents Indians. Which set of letters
represents women who are either
astronauts or swimmers?

friferRae e & 97, et @ nafifa s €,
Prgor ket &Y vl aean 2, g, afderel @ ok
sy R Y wefife aar 215 &1 B °T wE

e @Y vefdfa @var & @ ar ar eHes
& or e &2
D
M
\ A

www.ErForum.Net
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Options:
1) FHGI
2) DEIA
3) IBFG

4) FHI
Correct Answer: FHI
Candidate Answer: FHGI

QID: 445 -

Which of the following Venn diagrams represents the
relationship between Pencils, Pens and Writing
instruments ?

fep=aferfRee & & @i | a=fem 9fgew, 9= 3iik foram &t

Options:
1)
D

2)

3)

£
—

©

Correct Answer:

Candidate Answer:

&

www.ErForum.Net
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QID: 446 -

Which answer figure will complete the pattern in the
question figure?

ferAferRae 5 & $i--ft IR Jnpfer uy a1rapfey & wicRey
PI GRT HRAT?

Options:
1

2)

3)

4

Correct Answer:

Candidate Answer: [ NOT ANSWERED |

www.ErForum.Net
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QID: 447 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

<1t SR Sl F & I aapfr Y gAY fora e
amgfer ffee &1

Options:

1)

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED |

www.ErForum.Net
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QID : 448 -

www.ErForum.Net

A piece of paper is folded and punched as
shown below in the question figures. From the

given answer figures, indicate how it will appear

when opened.

T picrdl ¥ WY FTHR BRI Bl HISHR ST
B B AT TN P 918 T8 fobeT STR 3HTPfer ST

ferarg <2

Options:

1)

2)

3)

4

Correct Answer:

N
g
V4 A N\

Candidate Answer: [ NOT ANSWERED |

www.ErForum.Net
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QID: 449 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

afe e ST bt MIN a1 OR GT 9T af & it IR
STTPTIT 7 A DI-HT ATHIT T4 TTPpfeT T FET

1]

Options:
)]

2)

3)

4

Correct Answer:

Candidate Answer: [ NOT ANSWERED |

www.ErForum.Net
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QID : 450 -
A word Is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-Il are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example 'C' can
be represented by 31, 43 etc and "W can be represented by 76, 89 etc.
Similarly, you have to identify the set for the word 'SODA’

T 9% AT U WET-E gl s a8, S & fawed 3 & fdt g 7
T ey B vl & R 1y wem-ae arerl & 2 aif gt gig e &, St fs
e o < amegel ¥ 81 aregg-1 % Tew Sk it e 0 4 AR eIl B
59 9 81 5 arregel & (e a1 gl Sudhl dfth il are ¥ wes e g
ST ST Wil E1 SEER & 1Y C T 31, 43 AN GIRT SATAT AT ey & @
W' T 76, 89 T FRT SuTaT GIT el &1 gt avE & et wy i v o
‘SODA' & o1 g ! v 1

Matrix| STrE4 Matrix Il 3=l

0 1 2 3 4 5 6 7 8 9
| o J G | A H 5 5 Q R T X
[ 1 8 A D 8 L 3 5 T T U 3]
| 2 B D A F L 7 T W W 5 T
[ 3 L C [ B B g 1] R 0 T W
L4 B K B C B 9 q P Li 5 X

Options:

1) 65,85,21,40
2) 78,87,12,03
3) 55,67,12,33

4) 98,69,22,14
Correct Answer: 78,87,12,03
Candidate Answer: [ NOT ANSWERED ]

QID : 451 - By what name is the BRICS bank presently known?

o S @1 gawT W fod A | ST e 87
Options:

1) BRICS Development Bank

R forara 3

2) Afro-Asia Development Bank
TR-TiTE SgeTie d@

3) New Development Bank

= FeHe §6

4) No option is correct.

DTS fade Wl 781 .

Correct Answer: New Development Bank
= SEATHE 96

Candidate Answer: [ NOT ANSWERED |

QID : 452 - What does parallel economy mean?

HATTER s1eferawT &1 w2 A 7
Options:

1) Black Money

HTA T

2) Parallel Business

FHTTR ST

3) lllegal Economy

ara areferaen

4) No option is correct.

o1 fage wel 78 &

Correct Answer: Black Money
AT O

Candidate Answer: [ NOT ANSWERED |

QID : 453 - Who implements monetary policy in India?

e # i Hifa S wrp w7
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Options:
1) NITI Aayog
=i s

2) RBI

HRA frad #

3) Ministry of Finance
o wierg

4) Parliament

g

Correct Answer: RE|
Ty fired e

Candidate Answer: [ NOT ANSWERED |

QID : 454 - The ARDC is a branch of the NABARD. What is the full form of ARDC?

ARDC TaTé &1 v 3 #l ARDC %1 31 w9 &4 872
Options:

1) Agricultural Research and Development Corporation
Py argeiET ST faera Frm

2) Agriculture and River Development Cooperation

Bty S T4 frra weaT

3) Agricultural Reform and Development Cooperation
Pl gu & frere w=amm

4) Agricultural Refinance and Development Corporation

Py gef sl frepre Pt

Correct Answer: Agricultural Refinance and Development Corporation

Fiy gAfdT i fasma frm
Candidate Answer: [ NOT ANSWERED |

QID : 455 - Which of the following is a part of machinery that settles industrial disputes?

Frmfafad 4 % $19 1 72t & v frean & 9 st faa=t &1 foem s 22
Options:

1) Labour Court

A7 HE

2) Industrial Tribunal

afrenfirs

3) Work Committee
Fr wffa
4) All options are correct.

et fermey el .

Correct Answer: All options are correct.
aft fer el ¥,

Candidate Answer: [ NOT ANSWERED ]
QID : 456 - In which year Nagaland was created as separate state?

ey |T AATTETS &1 ST T % HY § G707 T &7

Options:
1) 1961

2) 1962
3) 1963

4) 1964
Correct Answer: 1963
Candidate Answer: [ NOT ANSWERED ]

QID : 457 - Which one of the following is responsible for the preparation and presentation of Union Budget?

Frfafad § 9 S FErg swe & de wgha © fay faeer i
Options:

1) Department of Economic Affairs

arfefe Al o fawmr

2) Department of Revenue

Irareg fawmr

3) Department of Expenditure

=7 faam

4) No option is correct.

o1 fagre wel et &

Correct Answer: Department of Economic Affairs

sidfe ATt &
Candidate Answer: [ NOT ANSWERED |

QID : 458 - Who presidad over the inaugural meeting of the Constituent Assembly of India?

T @] W T & Ted 9o 6t s e & =17
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Options:
1) Dr Rajendra Prasad
B o E WS
2) Dr Sachchidanand Sinha
= wiwars far
3) B R Ambedkar
Y A afergaT
4) Sardar Patel
TRER T
Correct Answer: Dr Sachchidanand Sinha
=t wfmars faer
Candidate Answer: [ NOT ANSWERED |

QID : 459 - Which of the following was not adopted from the Maurya Dynasty in the emblem of Government of India?

W IRHN & Weire ¥ Fyefafea & & o9 et 99 & aromman =& m o
Options:

1) Satyameva Jayate

WG T

2) Bull

e

3) Horse

e

4) Four Lions

TR I

Correct Answer: Satyameva Jayate
THG T

Candidate Answer: [ NOT ANSWERED |

QID : 460 - The first session of Constituent Assembly of India was held in which of the following cities?

WA 1 HRAUT qY1 &1 Ueen G frefeiad § 9 e e 4 gan ar?
Options:

1) Bombay

KE]

2) Madras
Hard

3) Culcutta
Ferdl

4) Delhi
et

Correct Answer: Delhi
faeett

Candidate Answer: [ NOT ANSWERED ]

QID : 461 - Which of the following is the best example of Vijaynagar Art?

Trmfatad % 3 19 91 SR o 51 9 oS SIEI E?
Options:

1) Ajanta

araar

2) Hampi

==

3) Puri

Th
4) Sanchi
wfr

Correct Answer: Hampi

==
Candidate Answer: [ NOT ANSWERED |

QID : 462 - Taxila was capital of which among the 16 Mahajanpadas?

16 WeTagat § ¥ fpwdt v garfien €17
Options:

1) Kosala

Ak

2) Kuru

Fe

3) Vajji

EIEE!

4) Gandhara

Correct Answer: Gandhara
T

Candidate Answer: | NOT ANSWERED |

Q1D : 463 - Who was founder of Mughal Empire in India?

AT o FTel WHIGE T RIS B 477
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Options:
1) Babur
EIEES
2) Humayun

RS

3) Akbar
FFA

4) Jahangir
W

Correct Answer: Babur
FraY

Candidate Answer: [ NOT ANSWERED |

QID : 464 - Where did Vasco da Gama arrive in India in 14987

T T T 1498 # W # wEl oy o417
Options:

1) Madras

TETH

2) Calcutta

EilgEail

3) Calicut

Earaicae

4) Bombay

Correct Answer: Calicut
FEATHE

Candidate Answer: [ NOT ANSWERED |

QID : 465 - According to the treaty of Srirangapattanam, which of the following was ceded to the British?

ArTaeevm Wiy & arpar, frefatea 4 § frd fafee = i fem mmam
Options:
1) Mysore

2) Hampi
il
3) Kannur

4) Malabar

ATETEN

Correct Answer: Malabar
ATATEN

Candidate Answer: [ NOT ANSWERED |

QID : 466 - By what name is the Ganga known in Bangladesh?

TS T w5 ATH FE?
Options:

1) Padma

AT

2) Ganga

R

3) Damodar

FHEY

4) Meghna

el

Correct Answer: Padma
Lt
Candidate Answer: [ NOT ANSWERED |

QID : 467 - Which of the following are not kharif crops?

TH W B | EIF Bl 78] 87
Options:

1) Maize and Rice

T AR AT

2) Arhar and Soyabean

e 4w wEEE

3) Wheat and Barley

g i Gl

4) Rayi and Groundnut

X At ‘ﬂ"lcﬁﬁ!

Correct Answer: Wheat and Barley
g aiw G

Candidate Answer: | NOT ANSWERED |

QID : 468 - How many seismic stations are required to locate the epicentre of an earthquake?

I & Hw BT T T P (AT T e W] $f AavaDd el &7
Options:
1)3
2)4
3)5
4)6
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Correct Answer: 3

Candidate Answer: [ NOT ANSWERED |

QID : 469 - Madhya Pradesh shares its border with how many States?

e T TereT XTou O e AT HIHT Wi e &7

Options:
15

2)4
3)6

4)3
Correct Answer: 5
Candidate Answer: [ NOT ANSWERED |

QID : 470 - Palghat joins which of the following states?

urerene Fretafaa § 9 e ol =1 firemar ¥2
Options:

1) Goa and Maharashtra

T & AERTS

2) Kerala and Karnataka

#e i FAeE

3) Tamil Nadu and Kerala

aferrg el Fve

4) Mizoram and Manipur

Pratie i wfvrge

Correct Answer: Tamil Nadu and Kerala
Candidate Answer: [ NOT ANSWERED |

QID : 471 - Which of the following authorities regulates NPS?

Tt ¥ ¥ wdew o fafram o9 wvar &7
Options:
1) IRDA

smEameEiT

2) PFRDA

ey

3) CAG

GIEll

4) SEBI

it

Correct Answer: PFRDA
LIS

Candidate Answer: [ NOT ANSWERED |

QID : 472 - Which of the following is a centrally sponsored scheme to empower adolescent girls?

fareie wrefmal &1 vy &34 & fon g & &M o S mafas Srae 7
Options:

1) SAKSHAM

HaH

2) ABLA

e

3) SABLA

GERN

4) BBBPS

Ao

Correct Answer: SABLA
GEG

Candidate Answer: [ NOT ANSWERED |

QID : 473 - Which among the following has inscribed Kumbh Mela on the Representative List of Intangible Cultural Heritage of Humanity?

Frrefafas % fpmm A 61 o wiephis R & wfaffy g6 3 $w 49 51 mfre fam $2
Options:
1) WHO
EEee
2) UNCTAD

3) ADB
witmare fomm #
4) UNESCO

TR

Corrgc*t Answer: UNESCO

Rl

Candidate Answer: [ NOT ANSWERED ]

QID : 474 - Who has been appointed as the General Manager of Board of Control for Cricket in India?

AR ¥ fiFthe 912 &iiF Soid 91 & Temeas & ©9 1 e Fygaa o mr g7
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Options:
1) MV Sridhar
Tt ST
2) Saha Karim
a1 HEH
3) Rahul Johri

gel
4) Anurag Thakur
AT TIFT

Correct Answer: Saba Karim
HET B

Candidate Answer: [ NOT ANSWERED |

QID : 475 - FIFA World Cup 2022 will be held in which country?

Wt firea Fu 2022 e 91 % e fea sme?
Options:

1) Russia

W

2) Spain

e

3) Ukrain

4) Qatar
T

Correct Answer: Qatar
FaT

Candidate Answer: [ NOT ANSWERED |

QID : 476 - "The Idea of Justice" is written by .

"3 amrzfiean sife wfeg” e Tt T
Options:

1) Ravindra Singh

e e

2) Mamta Banerjee

HAHT T

3) Amartya Sen

aref 99

4) Abhinav Bindra
arfire fammm

Correct Answer: Amartya Sen

ared 9
Candidate Answer: [ NOT ANSWERED |

QID : 477 - Which author has been made Companion of Honour on December 12, 20177

fawray 12, 2017 = forw orass/oiaes &1 FRRE oifE off e T9ran 12 #72
Options:

1) J. K. Rowling

o %, T

2) Roald Dahl

TJares =T

3) Charlotte Bronte

ElGIGE:

4) Jane Austen
i See
Correct Answer: J. K. Rowling

o, &, fET
Candidate Answer: [ NOT ANSWERED |

QID : 478 - 315! Surajkund International Crafts Mela has begun at which of the following city?

31-491 gragre siaiwia forew den Preafaiad 4 & feg e & sy gan a1?
Options:

1) Faridabad

HIEERE

2) Jaipur

ST
3) New Delhi
RERCr)

4) Jaisalmer

Correct Answer: Faridabad

THeEEE
Candidate Answer: [ NOT ANSWERED |

Page 22

QiD : 479 - ONGC Videsh has got a two year extension to explore which country's Qil block-128 in the south China sea?

syl fdm =1 gfion €= arr # frw 39 & 99 =1e-128 & aaane ¥ fav St ad & e frar i
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Options:
1) Cambodia
EZEnET
2) Vietnam
IELCEL
3) Taiwan
GIEEIE]
4) Philippines
e

Correct Answer: Vietnam
ferre=m

Candidate Answer: [ NOT ANSWERED |

QID : 480 - The 5™ India-Sri Lanka joint training exercise "Mitra Shakti 2017" was held in which state of India?

5 97 ING-sia T wgay -9 awe i wida 2017" =4 & few o 4 snarfaa fwa @ ar?
Options:

1) New Delhi

75 fawedt

2) Tamil Nadu

3) Maharashtra

HENTER

4) West Bengal

ufgeH FTE

Correct Answer: Maharashtra

TENTE

Candidate Answer: [ NOT ANSWERED |

QID:481-Bl0Sisa ;

I. non-volatile firmware
II. Volatile firmware
1II. Software stored on a small memory chip on motherboard

BIOS v B

1. FR-uRad+r iR

1. wfrgd-a wiEaw

. 7=REE ) U BIE O A9 fay o Siredy &1 9usn
Options:

1) Only |

g |

2) Only Il

Fad I

3) Only land Il

e | e il

4) Only Il and 111

et | e

Correct Answer: Only | and Il
wae | e il

Candidate Answer: [ NOT ANSWERED ]

QID : 482 - Which of the following is TRUE?

Friferfad % & 919 w1 o 2?7
Options:

1) Primary memory is non-volatile.
wefire W iR-aRadg 2 E )

2) Secondary memory is volatile.
T ¥ ofvad-a B 2

3) ROM is non-volatile memory.

I IR-afradFa g &

4) RAM is non-volatile memory.
W ir-ufrad= g g )

Correct Answer: ROM is non-volatile memaory.

I IR-afad = B & |
Candidate Answer: [ NOT ANSWERED |

QID : 483 - Which of the following metal remains in liquid form at room temperature?

Tereferiiae % ¥ w1 il o7y e T U wed WY § vET §7
Options:
1) Cadmium

2) Mercury

T

3) Germanium

AT

4) Tin

fea

Correct Answer: Mercury
=T

Candidate Answer: Mercury
=T
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QID : 484 - Aqua regia is a mixture of s

et X1 (ST faam) 1 fasm BT £
Options:
1) dilute hydrocloric acid and concentrated nitric acid.
T BTSN oIFe T Hig "Aefed ara
2) dilute sulfuric acid and dilute hydrocloric acidic.
I T A BIE g AN G 3TFe
3) concentrated sulfuric acid and dilute nitric acid.
WiE R 37 91 7 gied H
4) concentrated hydrocloric acid and concentrated nitric acid.
WiE EESaAlNE el 791 WiF AIRed
Correct Answer: concentrated hydrocloric acid and concentrated nitric acid.
g BTEeaelNE 4T 9u 9ig Asies avd
Candidate Answer: concentrated hydrocloric acid and concentrated nitric acid.

Tw ETSEITelT e a7l T % ST=iew et

QID : 485 - In a concave mirror if object is placed at centre of curvature, then image will be

wF erada uv # 3y fare Y g e W vy W e aren wfafiem vl
Options:

1) virtual

AT

2) erect

T

3) diminished

BIeT

4) at the centre of curvature
IHa § Fa T

Correct Answer: at the centre of curvature

awa & &5 9% R
Candidate Answer: [ NOT ANSWERED |

QID : 486 - What is the mass of 4 mole of aluminium atoms?

TEgHTaT % AT & 4 WIe &1 FEmT a9 27
Options:

1) 120 grams

120 7

2) 108 grams

108 7

3) 136 grams

136 7

4) 140 grams

140 94

Correct Answer: 108 grams
108 7

Candidate Answer: [ NOT ANSWERED |

QID : 487 Which of the following particles were made to fall on a thin gold foil by Ernest Rutherford?

Frmafafad # ¥ orive TeXErE A 3 & St & 69 B I U SHTmE o917
Options:

1) Gamma

A

2) Beta

Hrer

3) Electron

4) Alpha
|

Correct Answer: Alpha
TR

Candidate Answer: [ NOT ANSWERED |

QID : 488 - Which of the foliowing statement(s) is/are TRUE?
I. Fuse is generally placed in series with the device.

Il. Fuse is generally placed in parallel with the device.

11l Fuse wire has high melting point.

Frefafad 4 9 #9 w/¥ wae we 5E?

1. RIS BT W AT & g Sl # wahad e |

. T 21 HAT: i & e ureden # wenfe wee )
1. T 1% 6l e 9o BT B |
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Options:
1) Only |
wFa |
2) Only Il
EEC|
3) Only land Il
ae | et il
4) Only lland 111
Faa || Fe il

Correct Answer: Only |
ae |

Candidate Answer: [ NOT ANSWERED |

QID : 489 - A rectangular coil of copper wire is rotating in a magnetic field. The direction of the induced current changes once in each?

|4 & TR 6 T ARIETER Geel e gaehra drey # ol vy w5 T ¥ 1 g deel # Ui fyera g & famn § fea vy $ geerd g e
Options:

1) Two revolutions

a1 geiA

2) One revolution

T O

3) Half revolution

eI

4) One fourth revolution

TE =TS O

Correct Answer: Half revolution

e gt

Candidate Answer: [ NOT ANSWERED |

QID : 490 - Noise is measured in which unit?

T 1 R gTE # IO W £
Options:

1) Watt

EI

2) Faraday

L

3) Pascal

uEA

4) Decibel

FHE

Correct Answer: Decibel
ECiCG

Candidate Answer: Decibel

FitEer

QID : 491 - Which of the following vitamin helps in clotting of blood?

Frefafas % & 0 w1 fyerfim veu & wea ¥ werga svar d?
Options:

1) Vitamin A

Taerfra A

2) Vitamin B

faerfy=a B

3) Vitamin D

fererfim D

4) Vitamin K

frefim K

Correct Answer: Vitamin K
faerfya K

Candidate Answer: [ NOT ANSWERED |

QID : 492 - During heavy exercise, breathing rate in an average adult person can increase upto per minute.

arftrss =ImaTe FEA % ST, T sias aovs &) wEee 5Y i fiee 9% 95 vt &1
Options:

1)15

2)20

3) 25

4)30

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED |

QID : 493 - Why is the colour of human blood red?

MY T 1 97 el a9 B 27

Options:

1) Because of myoglobin

AR @ B0

2) Because of haemoglobin

EATEATT & FR

3) Because of immunoglobin
& I

4) Because of heptoglobin

TEFART o T
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Correct Answer: Because of haemoglobin

EHIETA & FR0
Candidate Answer: Because of haemoglobin

ERFAIEE & T

QID : 494 - Which of the following statement is INCORRECT?

Frefafiaa % & #F w1 v w78 87

Options:

1) Oviparous animal does not give birth to young ones.
sieyard uig famhad fimeg o o= 78 &0

2) Each sperm is a single cell.

WP YT TP Tehel DTl &

3) External fertilisation takes place in frog.

Hgw W gy i S g

4) Fertilisation is necessary even in asexual reproduction.

AT W A ot P e

Correct Answer: Fertilisation is necessary even in asexual reproduction.

aretfites W F ot T amgws ¥
Candidate Answer: [ NOT ANSWERED |

QID : 495 - What is the cause of arise of myopia?

Trae it 219 91 2 31 91 SR 87

Options:

1) Excessive curvature of the eye lens.

arfiT=t 1 aemar & afy® w1

2) Eye ball becomes too small.

T TiTeTd o1 BIel 8l W

3) Focal length of the eye lens becomes too long.
i &1 B g3 st B

4) Lack of sleep.

EiEEakail

Correct Answer: Excessive curvature of the eye lens.
arfirrs &) aeaT & arfrd 2

Candidate Answer: [ NOT ANSWERED |

QID : 496 - Which of the following multiplies very slowly in comparison to others?

Frrefafas % 3 $17 gaet S garn # aga i 7o 2 82
Options:
1) Bacteria

2) Virus

feramy

3) Fungi

EE

4) Worms

ol

Correct Answer: Worms

FH

Candidate Answer: [ NOT ANSWERED |

QID : 497 - The accumulation of non-degradable chemicals progressively at each trophic level is called

TR URFN TR R T AR IRy WA I H§9d_ weer el
Options:

1) biological magnification

Hiyw g

2) chemical magnification

EGIDIEED

3) residue magnification

aragy

4) No option is correct.

w1 et WY e &1

Correct Answer: biological magnification

wifys ghawwo
Candidate Answer: [ NOT ANSWERED |

QID : 498 - Why Taj Mahial is suffering from "Marble Cancer"?

ArAHES "SR AY e W ] i 7
Options:

1) Because of sulphur dioxide

HEFT SISoaaTEs & e

2) Because of nitrogen dioxide
ATSEIAT SISATEIES & IO

3) Because of chloroflurocarbon
TR [T A o B

4) Because of carbon dioxide

FEA TAFAEE F FRI

Correct Answer: Because of sulphur dioxide
HeHT SEHATHIES & FRY

Candidate Answer: [ NOT ANSWERED |
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QID : 499 - Cancer treatment is done by which of the following noble gas?

FT BT SUAR Freertad #§ | $ w7 sfiea T g e W 27
Options:

1) Helium

i

2) Radon

A

3) Krypton

farer

4) Neon

Frata

Correct Answer: Radon

IEHA

Candidate Answer: [ NOT ANSWERED |

QID : 500 - How many types of ecological pyramids are present in ecosystem?

miftfafirdt o= % fram v & wiviRufad fawfirs e €7
Options:

1) Two

=

2) Three

Gk

3) Four

e

4) Five

i

Correct Answer: Three
a4

Candidate Answer: [ NOT ANSWERED ]

QID : 501 - Choose the option which does NOT belong to the category of simple machine

Frefafad 4 W S wrE T % At & Haita T &7
Options:

1) Spring

i

2) Screw

L el

3) Wedge

Er|

4) Pulley

Tt

Correct Answer: Spring
&

Candidate Answer: [ NOT ANSWERED ]

QID: 502 -

What are the numbers of binary and temary links in the following kinematic chain?

R s s b i e Sramm s b 2

Options:

1) 3 binary and 4 ternary joints
3 AT Y 4 T S

2) 3 binary and 3 ternary joints
3 AT iR 3 A S

3) 3 binary and 2 ternary joints
3 AT & 2 A e

4) 4 binary and 2 ternary joints
4 g A 2 A i

Correct Answer: 4 binary and 2 ternary joints
4 5= i 2 G wireT
Candidate Answer: [ NOT ANSWERED |
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QID: 503 -

How many degrees of freedom does the below mechanism have?

o & w7 B T B Read @i

a1 &t it 97 & @y wie fea eri?
Options:
10

2)1
3)2

4)3
Correct Answer: 2
Candidate Answer: 2

QID : 504 - Which of the following is TRUE for four bar mechanism?

Frrfefad 4 ¥ 19 91 Fo9 91 9 99 % foo wd §?
Options:

1) All sliding pairs.

T4t Wt g

2) One is sliding pair and other is turning pair.
& Tl I &R gEe e g

3) All turning pairs.

T+t ef+fr g

4) None of these

FTH | B A8l

Correct Answer: All turning pairs.

|T eff1 g

Candidate Answer: All turning pairs.

ot T g

QID : 505 - Which of the following is the CORRECT miethod for the conversion of spring controlled governor from unstable to stable?

Frrmfafas 4 9 9 o fafly [ frifrg Teew & afer S B o © i $ fae ad

Options:

1) Increasing the ball weight.

qTel & qu gg[ o

2) Decreasing the spring stiffness.

B few g gem 4

3) Decreasing the ball weight.

qie1 & gurd "eH |

4) Increasing the spring stiffness.

TR feew g 7ar 9

Correct Answer: Increasing the spring stiffness.
& few g qem ¥

Candidate Answer: Increasing the spring stiffness.
TR fRew g 7em 9

QID : 506 - The power transmission takes place in shaft rotating at 400 rpm and this rotating shaft drives another shaft at 600 rpm. The smaller pulley has the
diametre of 0.5 m. The centre distance between pulleys is 4m. If the angle of contact on the smaller pulley for the open belt drive is 1.8° then calculate the diametre
of larger pulley (in m) and angle of contact (in rad)?

wifg wawer 400 smedres 7 g g3 v # B # o 7 quie e 600 STRUIeT IY ST e $ g1sa $ear & vl faneh o s 0.5 #few # s foneh & g o v ot 4 e
#| arm wTe favel o H@ud &1 101 1.8° ¥ 91 92 fawel @ e afiw Hud @ S (rad #) = E?
Options:

1) 0.50 and 2.00

0.50 & 2.00

2) 0.75and 2.00

0.75 &R 2.00

3)0.50 and 2.08

0.50 afv 3.08

4) 0.75 and 3.08

0.75 3w 3.08

Correct Answer: 0.75 and 3.08

0.75 3w 3.08
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Candidate Answer: [ NOT ANSWERED |

QID : 507 - Which of the following statement is CORRECT about the bull engine?

Fr=ferfad % 9 919 W1 97 901 591 & forg wel 87
Options:

1) Obtained by fixing the cylinder or sliding pair.
Fretes o wdt S =1 = grT e $

2) Obtained by fixing the crank.

Hrem 1 I g T T

3) Obtained by fixing the piston rod.
e ¥ie @1 I &R 0T B

4) None of these

ERUR KRk

Correct Answer: Obtained by fixing the cylinder or sliding pair.
Fretew a7 wdf S =1 et g7 e $

Candidate Answer: [ NOT ANSWERED ]

QID : 508 - Which of the following condition is CORRECT about the inversion of a mechanism?

Friferfad i 9§ 19 61 9 5 & o & (e Hel 87
Options:

1) Conversion of higher pair to lower pair.

Sl WIS! @ AT AT d wae

2) Turning it upside down.

39 FEEl PY ol

3) Obtained by fixing different links in a kinematic chain.
% s @ 1 fafi feie @1 fivee oo §

4) Obtained by reversing the input and output motion of the mechanism.
T % gYe N ameye vid F Sefen | uTe fiman

Correct Answer: Obtained by fixing different links in a kinematic chain.
T e 39 A faf fde @1 frey @ 9 o

Candidate Answer: Obtained by fixing different links in a kinematic chain.

T e @9 7 fafi= forw =1 frea o3 o wr

QID : 509 - Which of the following statement is INCORRECT about the dry clutch and wet clutch?

Prrferfiae wem % W g wa Sl firen a7 & g e &7
Options:
1) Heat dissipation is more difficult in dry clutch.

= 719 7 Eie srverg s sieT § 1

2) Rate of wear is very less in wet clutches as compared to dry clutches.

I[6 AT 1 el 7 el A A TN B S aga pA |

3) Torque transmitting capacity of dry clutch is less than wet clutch.

6 W14 ] ST HEROT A el T H FH E |

4) Engagement in wet clutch is smoother than dry clutch.

e ur ¥ wer g e 9 R d

Correct Answer: Torque transmitting capacity of dry clutch is less than wet clutch.

I[H AT 1 SITEL] HETOT & e W S E |
Candidate Answer: [ NOT ANSWERED |

QID : 510 - Which of the following theory is/are used for the determination of torque quantities in cone clutch?

FrefaRad fagia #§ 4 fed wig amw 4 gargef | & Frafo s e
Options:
1) Uniform pressure theory

o gard Fagia

2) Uniform strain theory

wad fagfa fasr

3) Uniform stress theory

et wierger Resie

4) None of these

79§ B A

Correct Answer: Uniform pressure theory
Hed garg Fg=Zgid [OR] Uniform strain theary
wod et fasm

Candidate Answer: [ NOT ANSWERED |

QID : 511 - Which of the following toothed wheels does not come under the classification according to the type of gearing?

Frefatea sier 9feat # @ 37 frfin & wer F s aiftew § T8 e 27
Options:

1) External gearing

qMEY

2) Internal gearing

amefes firgfin

3) Rack and pinion

Y@ sRffT

4) Parallel gearing

FHMATR PRI

Correct Answer: Parallel gearing
FHMATR PR

Candidate Answer: Parallel gearing
AR g
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QID : 512 - The profile of the gears is involute with 200. If the length of the path of approach and length of path of recess are 28 mm and 25 mm respectively. What is

the length of arc of contact? (cos20°=0.94)

R =1 HiwTse 200 9§ # S o gfeedion o ver i o A fesnRy & vy F o e 28 mm st 25 mm & W9d & =919 Y e 991 27 (cos20°=0.94)

Options:

1) 54

2) 54.4

3) 56

4) 56.4

Correct Answer: 56.4

Candidate Answer: [ NOT ANSWERED |

QID : 513 - The governor in which the displacement of the sleeve is high for the small change of speed is known as

T =i ¥ weite o1 faenm= i & B aftad= % fav 9= 8, sw e @

Options:
1) hunting
o

2) sensitive
.

3) stable
e

4) isochronous
R EAIEED

Correct Answer: sensitive
Bt
Candidate Answer: sensitive

i

QID : 514 - The point of contact which is common between the two pitch circles is known as

GffemadRamR A S fige__ sE wm gl
Options:

1) base point

MY g

2) addendum

Frgdeq

3) dedendum

drdeA

4) pitch point

o gige

Correct Answer: pitch point
firg wise

Candidate Answer: pitch point
ICERIET

QID : 515 - The tensile strength for the plate per pitch length of the outer row of the rivet is

Hers & ) ufeg S i T ded S v e aed ¥

Options:

1) '

P _(p-djte,
2

2)

P, =2(p-d)ito,

3)

P =(p-d)to,

4)

P, =(p-d)t3c,

Correct Answer:

F.=(p-d)to,

Candidate Answer: [ NOT ANSWERED |

QID : 516 - Choose the option which is INCORRECT about the term friction.

29 faaeq &1 g+ ol fif wreg udor & A e ¥
Options:

1) Friction produces heat

wfur SreT Seifad G &

2) it leads to the decrease in the velocity of object
T b 471 H BB A S

3) It leads to the increase in the velocity of object
e P 97 ghg & WA #

4) It can stop the moving object

Ferdl! g B D G &

Correct Answer: It leads to the increase in the velocity of object

T P 97 W gfeg B oA ¥
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Candidate Answer: [ NOT ANSWERED |

QID: 517 -
Which of the given formula is CORRECT for calculating the angle of static friction ¢, ?

&Y Rw v FiF @ gy wdfFw oo & s ¢, F aver & @ agr 32

Options:
1

tan™ g,
2)
sin™ 4,
3)
cos™ u,
4) None of these
T Y P T

Correct Answer:
tan™" 4,

Candidate Answer: [ NOT ANSWERED ]

QID : 518 - Which of the following statement is CORRECT for the modulus of resilience?

T/ % 9 B W1 HYF AT F A9iE § R wd 82

Options:

1) It is the ratio of maximum stress energy and unit volume.
T Arfrea UhEe Sl o geTd e =1 e ¥

2) It is the ratio of maximum strain energy and unit volume.
g arftrere fagfer St 9N geTe emaes w1 AT ¥

3) It is the ratio of proof resilience and unit volume.

g Y YHITACE 3l 3Ty amaea #1 argure &1

4) It is the ratio of proof resilience and unit area.

g YW YHIACH T gy dowe & g ¥ |

Correct Answer: It is the ratio of proof resilience and unit volume.
7= T YHIRTTH Sl ST SR 31 aTgunT #

Candidate Answer: [ NOT ANSWERED |

Page 31

QID : 519 - Calculate the value of modulus of elasticity (memz), if the Poisson’s ratio is 0.25 and modulus of rigidity of the material is 80 N/mm?

TR AT (N/mm?) 6 e 6 T HY, A W w1 e 0.26 ¥ afe wrl srossmor quris 80 N/mm?2 2

Options:

1) 100

2) 200

3) 250

4) 300

Correct Answer: 200
Candidate Answer: 200

QID : 520 - Which of the following is CORRECT option for validation of Hooke's law in simple tension test?

17 ¥ W B g 5 PO 1 W aeE udie | A1 e o T wE freen 17
Options:
1) Ultimate stress
aifer wfoaer
2) Breaking Point
area T Rafa
3) Elastic Limit
TR HiA
4) Limit of proportionality
T

Correct Answer: Limit of proportionality
FHTHT HHT
Candidate Answer: Limit of proportionality

HATTITET |

QID : 521 -

A steel rod whose diamelre is 2 cm and is 2 m long, experiences heating from 30°C to
150°C . The coelficient of thermal expansion is & =12 =107 / °C and the rod has been
restricted in its onginal position. The thermal stress developed is 288 MPa. What is the
value of Young's modulus (GPa)?

T e 15 fotawr sara 2 @8y o ot 2 e § 58 aaaEe 30°C & 150°C o=
o fie v #1 3w GUR I B @ =12x107 1 °C Al s @Y el He Rufa &
winala Sar o & fowtaa awiy witew 288 (vado) § & 9o A9i(GPa) &1 A
F4r ghn?
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Options:
1) 50

2) 100
3) 150

4) 200
Correct Answer: 200
Candidate Answer: [ NOT ANSWERED ]

QID : 522 - Choose the INCORRECT conditions for the thermal stress in a body.

T 1 Sl witrae & faw @9 9 97d Terg 87

Options:

1) It is the function of coefficient of thermal expansion.
I YT IS T HEEr &

2) It is the function of temperature rise.

TTTATA 3 FTH 1 e &

3) It is the function of modulus of elasticity.

WRHTRIT [UTie 1 e

4) It is the function of modulus of rigidity.

AT VIS T e &

Correct Answer: It is the function of modulus of rigidity.
SIWTT I BT A &

Candidate Answer: It is the function of modulus of rigidity.
AT VI T T &

QID: 523 -

The farmula for the Euler's buckling load is given as %ﬁ This is TRUE for which of the

following columns?

zﬁ{a:m;anmaft%a%mmm%las%!rfﬂmﬁﬁ;nmma};m
w87

Options:

1) Column with one end fixed and other end free.
e forere v Bk wrd SR TR o amw

2) Column with one end fixed and other end hinged.
T o % "I Hiew WET AR gAY ofF five

3) Column with both ends fixed.

T SR W are W

4) Column with both hinged ends.

A1 o F Wy FlaA five

Correct Answer: Column with one end fixed and other end free.
T T T BIY =TT AN SEe B o
Candidate Answer: [ NOT ANSWERED |

QID :524 -

Detemmine the shape of the elastic curve between the supports B and C for the beam as
shown in the figure below

o fer or 1 F owde B AR C & fag & ooy aF & AR A 7

P "

. '
VAN

Cc
—wh i 2 -I

w
L
e

Options:

1) A straight line
e e

2) Elliptical

T

3) Parabolic
AU HTH H
4) Circular
RIECE]

Correct Answer: Parabolic

ST ST T
Candidate Answer: [ NOT ANSWERED |

QID : 525 - The elongation (mm) in a steel bar having a square cross section of dimension 40 mm x 40 mm is 2.5 mm and is subjected to an axial compressive load
of P (kN}. If the iength of the bar is 4 m and modulus of elasticity is E=250 GPa. What is the value of P (kN)?

TF T G H SIEER 2.5 mm g0 SS9 a7 H 1 Y 67 A 40 mm x 40 mm ¥ sk 98 P kN % v e witga a9 anefe 7 an R 6 aig 4m § iR mermerar
wTare E=250 GPa & 1 P a1 71 7 g
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Options:

1) 100

2) 150

3) 200

4) 250

Correct Answer: 100
Candidate Answer: 250

QID : 526 - The property of a material states that it is rigid. The value of Poisson's ratio for this particle is

Fepreft wraft 1 T Tt # i 9w WO | 59 3 3 f deew ¥ e o e
Options:

10

2)1

3)2

4) None of these

EREEa R

Correct Answer: 0

Candidate Answer: 0

QID: 527 -
Consider the loaded beam as shown in the figure below

f Re o g # wizs & w Rar wY

Ly vy Vv
T

Choose the CORRECT option for the bending moment diagram of the beam above
IwE @ & fie o d amret ame

Options:
1

D

2)

3

i

4) None of these
ZTH 9 FE TE

Correct Answer:

[0R]

0

Candidate Answer:

P

QID: 528 -

Calculate the total angle of twist for a stepped shaft which is subjected to the torque (T)
as shown in the figure below

@i B 78 sl & v wods wwe & @v doe dor & o & St aemger

(T) & anfi= &1
j 20 @-lll Gy
7 21
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Options:
1)

Tl
Gd*

2)
6671
2Gd*
3)
Tl
66Gd"

4)
3671
z6d*

Correct Answer:
6671
2Gd*
Candidate Answer:
6671
2Gd*

QID: 529 -

A cross sectional bar of area 700 mm? is subjected fo an aaal load as shown in the
figure below What is the value of stress (MPa) in the section QR?

700 mm? AFEE & UF Fa AT of A R av s am F i &) s
QR # diaw (TAd) & AT #7087

63 kN 35kN 49 kN 21kN
-— — - .
P Q R ]
Options:
1) 30
2) 40
3) 50
4) 60
Correct Answer: 40
Candidate Answer: 40

Page 34

QID : 530 - Choose the CORRECT equation which defines the relationship between the Young's Modulus (E), Bulk modulus (K) and Poisson’s ratio (u).

W TS BT =TT B A G A (E), Tob MO (K) S digww S (u) @ we S o s 2

Options:

1) E=3K(1-2u)

2) E=3K(1-u)

3) K=3E(1-2u)

4) K=3E(1-u)

Correct Answer: E=3K(1-2u)
Candidate Answer: E=3K(1-2u)

QID : 531 - In a P-V diagram for pure substance, the constant temperature line in superheated region is

T vere o g -4t e #, et a4 7w A A #
Options:
1) converging

2) diverging
AT

3) intersecting
EIELIEET

4) parallel
AT

Correct Answer: diverging
L EsiEd

Candidate Answer: [ NOT ANSWERED ]
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QID: 532 -

Which equation clearly defines the entropy change duning the isothermal process for a
system with m kg of gas at pressure P, , volume V, | temperature 7, and enlropy s, is

heated to state points of pressure P , volume V, | temperature T, and entropy s, ?

v e & gaada ofet & sl & g o oftede F Rr we @
aftsifia &wer & 3R m kg & Ha P, qaw v, wmaew T, ameAm i S dendr oy

get e fag aw W e o @ o P zag V, ¥mdA T, amEd i s
verdt o3 2

Options:

1)
T,
mc In—=
T

2)

1
mcaln—‘—
T,

3)

mRtnYE-
V.

4)

Correct Answer:

len-\fi
\A

Candidate Answer:

lenE
V.

QID : 533 - The entropy change of the system and the surroundings during a process between two equilibrium states is

2 Hgfed sen § fw S ulrm A e dr tRem A rerfisragea __ g@nd
Options:
1) equal to zero
% AT
2) greater than zero

AR

3) less than zero

T H B

4) greater than or equal to zero

[ F GEIEY 1 IEY ql

Correct Answer: greater than or equal to zero
79 & ST 91 96 g9l

Candidate Answer: equal to zero
T F TR

QID : 534 - A Camnot heat pump is used to maintain a room at a temperature of 300C, the initial temperature of the room was 30°C. If the power requirement of the
pump is 20 kW. What is the heat pumped (in kW) to the room?

T PTE U9 BT s v w8 o1 3070 qrn 5w amre T % o fipan wimar & wa w1 s e aror 30°C ) s v 6 wiidn enavamar 20 kW E o e v fr et (kw
) e &7

Options:

1)3

2)17
3) 154

4)174
Correct Answer: 174
Candidate Answer: [ NOT ANSWERED ]

QID : 535 - Which equation best represents the net entropy change (s) for an irreversible process?

Frefafiae ¥ 91 1 1 AT s g Winar & T oo TRt Tiadd o At Y e?
Options:

1)s5=0

2)s=1

3)s5<0

4)s>0.

Correct Answer: s > (.

Candidate Answer: 5 <0
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QID : 536 - Which of the engine has a spark plug used for igniting the fuel?

S T Toder (678 SoI7 BT P19 W] WTe W (tha ol H SaiT fmar wrar 27
Options:

1) Petrol engine

grE e

2) Diesel engine

Fratel T

3) Steam engine

1Y FoT

4) Gas engine

¥ gor

Correct Answer: Petrol engine
EEGErE]

Candidate Answer: Petrol engine

el g
QID : 537 - What happens to the efficiency, when the temperature of intake air is lowered in an I.C engine?

W U AT S F a9 w97 67 AHIA A BT E O ST 6 T AT R
Options:

1) Increases

ErniE

2) Decreases

Tear ¥

3) Remains same

HAT V&A1 E

4) Increases to a certain limit, then decreases
% ff¥ea im 9@ 9 o g, fier se ol
Correct Answer: Increases

qgary

Candidate Answer: [ NOT ANSWERED |

Page 36

QID : 538 - For a process which is non-flow (U is the internal energy, Q is the heat and W is the work done) the first law of thermodynamics states

et s o farg it v # (U siaie so1 &, Q S sl W ism man o &) drssmtd s aeen B

Options:
1)
eU=¢eQ -sW
2)
pda+Gdw =0
3)
pdQ=faw
4
el =8Q
Correct Answer:
i dQ = § dw
Candidate Answer:
eU=2Q-eW

QID : 539 - Which equation represents the steady flow system?

Ty ware Fram % fore o9 a1 vy ahaffia svar 8?7
Options:
1)

H, +£';+£;+Q=_V‘L+EE +Losses

2] J 20 J o

2)
_+2"’? +%+ = ;;J + zj +Losses + Workdone
- © @ R o
FH
3)
+]"{_'+i+|;;n=!-;‘Z + Ve + &2 +Losses + Workdone
2g) 29 J s
B3I
I F
4)

H, + L _H + L3 + 22, Losses + Workdone

ogd 4 2 2gJ =S N
I
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Correct Answer:

H1+V_'+E+Q=H;+V_2+§+Losses+W0rkdone
2g J gl J

ET% forar

AT HR

Candidate Answer: [ NOT ANSWERED ]

QID : 540 - In a P-T diagram for pure substance, the melting line has highest inclination with respect to the positive horizontal axis representing temperature for which
type of substance?

& vaTe F e §-81 e ¥ T T # aERes Afae e % e 7 Swew g € o e vand & fee o &5 wiataire sRer 87
Options:

1) Substance that contracts on freezing.

waref A WA X fagea E

2) Substance that expands on freezing.

Teredf 1 W 0% e g

3) Substance that has same volume on freezing.

eref R W X WA S B

4) None of these

FTH | B A8l
Correct Answer: Substance that expands on freezing.

waref A1 WA 1¥ e 21
Candidate Answer: [ NOT ANSWERED ]

QID : 541 - Which of the following graphs represents working of an ideal Diesel cycle on p-V scale?

T amer # 9§ B9 ORdT i 1R anes S 9 w1 F1H BYal B2

Options:
1
P
&
o
v,
2)
3
o [
2
5
1
v
3)
et
v
4)
P
3
A
i %
2Ir~\ ﬂ-h__‘__‘_‘
T
i . I
ve i v, -
: L]
1
V=V, Vs, ¥
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Correct Answer:

|
1
1
1
|
|
|
|
|
|
|
|
1
1
|
1
1

V.

v, ¥

Candidate Answer: [ NOT ANSWERED ]

QID : 542 - The work done by a system is 45 kJ. If the internal energy of the system is decreased by 15 kJ. What is the heat received (in kJ) by the system?

e T g R T T 45 kJ | 9ty faeen 1 anaive St 15 kJ & w0 w2 S E o R gw e (kd H) w2 E?

Options:
1)-60

2)-30
3) 30

4) 60
Correct Answer: 30
Candidate Answer: 30

QID : 543 - A reversible adiabatic in a T-S diagram is a

T A W U wiaad e 2|
Options:
1} point

2) vertical line

FHETET T

3) horizontal line

aferat Y

4) parabolic curve

REEGIRETED

Correct Answer: vertical line
HETET T

Candidate Answer: vertical line

ST

QID : 544 - Specific enthalpy is an of a system and its unit iz

Tafire ydreh frreera =1 vs ¥ N o T 1
Options:

1) extensive property, k.J

Ferwefrof 7o, kJ

2) extensive property, kJ/kg

Ferweftof 7o, kd/kg

3) intensive property, kJ

g o1k

4) intensive property, kJ/kg

& ULk /kg

Correct Answer: intensive property, kJ/kg
e TokJ/kg

Candidate Answer: intensive property, kJ/kg
TEA ULk kg

QID : 545 - The internal energy of the system is a function of temperature only U=30+0.5t kJ. If the system does the work of 0.5 kJ/K. What is the increase in heat
interaction per degree temperature?

T &t afafya St arawrs U = 30 + 0.5t kj o7 haem € | &= faves 0.5 kj/K &7 %1 swar & 11 wia feedt a4 i 4 goe firan 7 gfig s 27
Options:

1) -1

2)0

3)1

4) Gannot be determined

Ferertfa =7 ey = weeen &

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED |

QID : 546 - 2500 kJ/min heat is supplied to a heat engine at 727°C. It rejects heat at 900 kJ/min at 223°C. This type of engine is

2500 kJ/min &t 77t 7270C 9% v T S R argff o ¥ 17w 2230C w900 k/min W B e AR f A gH TER w WA B
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Options:
1) ideal
ames

2) irreversible

3) impossible
EEEE
4) practical

Correct Answer: impossible
AT

Candidate Answer: impossible
aTa

QID : 547 - What happens to the COP of a heat pump, when the temperature difference between source and sink is decreased?

o e S fe % e o1 A oy He W # A g T O % wieid o o g #7
Options:

1) Decreases

9§ A

2) First decreases, then increases
el e T ¥, Ry @g 9T ¥

3) First increases, then decreases
el gel ¥, iR v wmel &

4) Increases

qadl ¥

Correct Answer: Increases
EChik

Candidate Answer: Increases

ECik

QID : 548 - If two Carnot engine CE1 and CE2 are connected in a series such that the heat rejected by CE1 is used as the input for the CE2 cycle with the intermediate
temperature being the geometric mean of the extreme temperatures. Which of the following statement is TRUE for this efficiency of the Carnot engine?

afy <1 wrele $u WiE 1 @i € 2 o g 4 3 gu d, o i 1 s wis e wiE 2 99 @ R g & w0 d sugi B ot E, W T 9 & W @R aaEr o
TR w1 § | e S 6 39 e & fay e # f S 61w wE #2

Options:
1)
MTeey * g2
2)
Meey < Mgz
3)
Teer = ez
4) Insufficient data
arqgie &

Correct Answer:
Nogr = Mgz
Candidate Answer:
Heer = Tlee2

QID : 549 - What type of slopes does constant pressure line have in the superheated region of the Mollier diagram?

Hiefraw amrg % arfraTer et & & fFrg v &) gery wad <919 TE TEal 17
Options:

1) Positive slope

HATATRR Zel

2) Negative slope

HUTHE eIl

3) Zero slope

I el

4) First positive than negative slope
TIPS EaT 6 el 7 Tl Tpeaa
Correct Answer: Positive slope
HATATRR Sl

Candidate Answer: [ NOT ANSWERED |

QID : 550 -
C

For a gas with n degree of freedom, what will be the value of —Ci ?

nﬁ!ﬂmaﬁ?tﬂ?&fﬁuc_’mmwm?
c

v

Options:
1) n+1

2) n-1
3)1-2/n
4) 1+2/n

Correct Answer: 1+2/n
www.ErForum.Net
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. l\let
Candidate Answer: [ NOT ANSWERED |

QID : 551 - With which of the following age hardening is related?

=1 % % v e few @ et &7
Options:

1) Cast iron

el AATEl

2) Gun metal

T Hew

3) Duralumin

4) German silver
SHA ==
Correct Answer: Duralumin

SR

Candidate Answer: [ NOT ANSWERED |

QID : 552 - Monel metal is an alloy of

wie g T #t f arg &
Options:

1) Cuand Cr

Cua Cr

2) Niand Cu

Ni &~ Cu

3) Niand Cr

Ni &~ Cr

4) Cu, Niand Cr

Cu, Ni &z Cr

Correct Answer: Ni and Cu

Ni &l Cu
Candidate Answer: [ NOT ANSWERED |

QID: 553 -

e, @y F1 gadh v ¥ |
Options:

1a

2)p

3)y

4H6

Correct Answer: a

Candidate Answer: [ NOT ANSWERED |

iron is the magnetic allotrope of iron.

QID : 554 - The bonding of a rubber sheet with a metal is done by

¥Tq ¥ W1 T VEY U T W T & A S
Options:

1) Welding

afesT

2) High frequency dielectric heating
T AT SESeaed eieT

3) Induction welding

FEaE dfesT

4) Adhesive bonding
TeEtig 99 (W)

Correct Answer: Adhesive bonding
TeEg qY (Hawy)

Candidate Answer: [ NOT ANSWERED |

QID : 555 - Plain and butt welds may be used on materials upto approximately

WTET Sl ge Yeew BT TG W 97 e A Aerg o e aer €
Options:

1) 25 mm thick

25 fipft wirer

2) 40 mm thick

40 firft Awer

3) 50 mm thick

50 fipft wirer

4) 75 mm thick

75 fipft wirer

Correct Answer: 25 mm thick
25 fieit wiren

Candidate Answer: [ NOT ANSWERED |

QID : 556 - An optical gauge works on the principle of

T FifEer T TS NI 9X B BT
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1) reflection of light rays
wHTe fexvii o1 wiafae
2) polarisation of light rays
EEIERER el
3) interference of light rays
Ty favil &1 aedy
4) refraction of light rays
Ty favii &1 ey
Correct Answer: interference of light rays
v fevolt @ eeE

Candidate Answer: [ NOT ANSWERED |

QID : 557 - Generally, the strongest form in which metals can be used as

A A U, T Ay WU e aTgalt #1379 w9 A R e o wer #
Options:

1) hot rolling

=iE Ve

2) cold rolling

Bies TR

3) extrusion

TFHGET

4) forging

wifetT

Correct Answer: forging

Candidate Answer: [ NOT ANSWERED |

QID : 558 - Thermite is a mixture of

rafge goa fhgo ¥

Options:

1) five aluminium and iron oxide in the ratio of 3:1

3:1 % arqura # ui" vapitE A smRAsiaEge

2) five iron and aluminium oxide in the ratio of 3:1

3:1 % arguTa # vl @ &R vegHitm ofeass

3) five aluminium and iron oxide in the ratio of 3:1, with traces of sulphur, phosphorus and mzanganese
HEH, BTERH AR #Te 6 arasy & e 3: 1 % Srguna ¥ e Yegaihe AR smRAeiamzs

4) molten iron and aluminium, with the ratio depending upon the type of the surface to be welded

TorereT gam @it Sl VegHIhTaH, 4TS B 9Tel Hae & WPTY & SHIE T% Sgard & 6
Correct Answer: five aluminium and iron oxide in the ratio of 3:1

3:1 F arguTa # Ui TegHITTE o anRAaiTes

Candidate Answer: [ NOT ANSWERED ]

QID : 559 - The process of enlarging a hole is known as

TH U % e & i %1 39 Wy 4 9 e §
Options:

1) counter boarding

Frdex qéT

2) counter sinking

3) boring

ElEgl

4) drilling

fafem

Correct Answer: boring

Enigl
Candidate Answer: boring
i

QID : 560 - Which of the following statements iz true?

Fretafas § 4 S w1 F7 W ©2

Options:

1) Crater wear is predominant in ceramic tools
fafhe oot 4 e e maw

2) Crater wear is predominant in carbon tool steel

e faae ST oo e 1 Wd ©

3) Crater wear is predominant in tungsten carbide tools
cived drdlgs gor i dev P dga &

4) Crater wear is predominant in high speed steel tools

Fet T ATl g SUH # ke faue yHE ¥

Correct Answer: Crater wear is predominant in tungsten carbide tools
EIREA Wi ige oo ¢ et AR e &
Candidate Answer: [ NOT ANSWERED |

QID : 561 - The bomb calorimeter is an apparatus to measure the

qH FARTHET TH AT F1 UF UG el &
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Options:
1) calorific value of a gaseous fuel
ity YA 1 vy W
2) calorific value of solid and gaseous fuels
BT iR iy o & I AE
3) calorimetric composition of any solid bomb material
et 1 S 9w WA & FEREEE dea
4) calorific value of a solid or liquid fuel
BT 1 9 S9 F THE AT
Correct Answer: calorific value of a solid or liquid fuel
T 7 T S9 % IS A

Candidate Answer: [ NOT ANSWERED |

QID : 562 - In metric system the unit of heat is given as

Hifees foeew 4 1 61 gard B 39 Wy H R wEr
Options:

1) CHU

RiIREE

2) BTU

Cilciy

3) keal

FHTIA

4) Kelvin

fea

Correct Answer: kcal

& WU

Candidate Answer: BTU
fidrg

QID : 563 - Centrifugal pump is an example of

PETTHE U7 3HT (P 9areql &
Options:

1) isolated system

arer P

2) closed system

EERLil

3) steady flow system

TR waTE womet!

4) None of these

ERLEE R ]

Correct Answer: steady flow system

v wars wometr
Candidate Answer: [ NOT ANSWERED |

QID : 564 - A refrigeration system works on

% Tl Ol §9 O B SNl &

Options:

1) second law of thermodynamics
FHTATIRR & TEY frawm

2) first law of thermodynamics

FHTATH] & vEen Frm

3) zeroth law of thermodynamics
FHEAfTH! & I

4) None of these

T | T A8l

Correct Answer: second law of thermodynamics
FHATTR] % FEY frm

Candidate Answer: second law of thermodynamics

FHEFARTDT & AT AT

QID : 565 - Liquids have

avel aret

Options:

1) No specific heat

P13 fordy won 72t

2) different values of specific heat at same temperature
T & aroHTE uR fafere T G R e

3) only one value of specific heat
Taftre wft 1 e @ o

4) two distinct values of specific heat
Taftres w1 & 51 SerT-Srer A

Correct Answer: only one value of specific heat
fafere Wl @1 wae TE A

Candidate Answer: [ NOT ANSWERED |

QID : 566 - The volume of the universal gas constant (R,) is equal to

ardeiife g R (AT) 1 ST S0 SR BT §
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ptions:
1) 848 m kgf.kg-mol / K

2) 8.48 m kgf/kg-mol / K
3) 84.8 m kgf/kg-mol / K

4) 0.848 m kgf/kg-mol / K
Correct Answer: 848 m kgf kg-mol / K
Candidate Answer: [ NOT ANSWERED |

QID : 567 - The solid fuel having the highest calorific value is

T HE1Y Y 9Te oW 3 GE BT B
Options:

1) wood

AR

2) lignite

ferrrge

3) coke

FE

4) anthracite

TS

Correct Answer: anthracite
THTHAEE

Candidate Answer: anthracite
THTHES

QID : 568 - The heat transfer Q, the work done W and the change in internal energy U are all zero in the case of

Tt wrTam Q, W ferem T Woale arfafie st U s ofteds gw fRrf o wf yper e
Options:
1) a rigid vessel containing steam at 150°C left in the atmosphere which is at 25°C

150°C W W19 976! FOR UTS 1 ArgHEd 4 g e T Wi e 25°C w i

2) 1 kg of gas contained in an insulated cylinder expanding as the piston moves slowly outwards.

¥ fiF firee - amh 9ga & Us Seies faeter 7 1 fra w1 & frmm

3) arigid vessel containing ammonia gas connected through a valve to an evacuated rigid vessel, the vessel, the valve and the connecting pipes being well insulated
and the valve being opened and after a time, condition through the two vessels becoming uniform

e Frrafer v et v areg 3 regn ¥ U Wl 5 9T & g ared 3 e W et 2 & 07, a7ed AR wils 916 TEy $ aredt oXe ¥ gegere firan Wi # SN arey wier W &
iR T TRY % qTE, T WETS % Are o Rty v v w e

4) 1 kg of air flowing adiabatically from the atmosphere into a previously evacuated bottle

argFEe ¥ A arelt 1 fepetram a1g gee @ @rel diaw § e

Correct Answer: a rigid vessel containing ammonia gas connected through a valve to an evacuated rigid vessel, the vessel, the valve and the connecting pipes being
well insulated and the valve being opened and after a time, condition through the two vessels becoming uniform

o frrafer v e v are 3 regn ¥ U Wl % 9T & Ay ared & e 9§ st 2 &, U, 97ed AR Wi 916 75§ aredt oaXe ¥ gegere firan Wi # SN arey wier W &
iR T RY % ATE, T WETal % Are o Rty v wee w e

Candidate Answer: [ NOT ANSWERED ]

QID : 569 - A reversible engine operates between temperatures T and Ty. The energy rejected by this engine is received by a second reversible engine at temperature
To and rejected to a reservoir at temperature Tg. If the efficiencies of the engines are same then, the relationship between Ty, T2 and Ts is given by

T Wi SO AR T 3% To 3 419 Tei1 & 159 597 g1 S Iar $1 9l 9rell Sl araae To O gav Rafiee so9 g e &1 9t & siR argam T 9% v@ 7ver 3 fag
RS Y 1 AT # A i T s WA B, o Tq, To 9 T3 O €19 & W B 56d s Tadr wr &

Options:
1) To= (T +T3)/2

2) To=sqrt {(T1)? + (T3)?)
3) Ty =sqrt(Ty * Ta)

4) None of these
ZTH 4 =
Correct Answer: T, = sqrt (Tq * T3)

Candidate Answer: T = sqrt (T4 * T3)

QID : 570 - Efficiency of a Carnot engine is 75%. If the cycle direction is reversed, COP of the reversed Carnot cycle is

TEH TINAE $o §1 S5 /5% &1 =i 9 e 9oie B WK §, 91 9ee wive @w o COP T2 B &

Options:
1)1.33
2)0.75
3)0.33
4)1.75

Correct Answer: 0.33
Candidate Answer: 1.33

QiD : 571 - The channel section considered to have the highest efficiency is

g FeTel AT RAH UTE SeaH qerd] S A A ¥
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Options:
1) Quadrant
v g o
2) Square
=t

3) Trapezoid
b

4) Triangular
lEEauip

Correct Answer: Trapezoid
EEVE]
Candidate Answer: [ NOT ANSWERED |

QID : 572 - Any liquid flow, obeys the following

FE +ff TE varE, i &1 ure FRan
Options:

1) Capillary action

it IS

2) Bernoulli's equation
AT BT WD

3) Continuity equation
T HH T

4) Newton's law of viscosity

e F fawprag @1 A

Correct Answer: Continuity equation
e FHIET0

Candidate Answer: Continuity equation

ST T

Page 44

QID : 573 - According Lo principle of loatation, the weighl of liguid displaced as compared Lo the weigiil of the body is

FACT § (i & Jarae, IR © Tu & 79 Bi7 & WY 7 [97ea T9a B 99 98 el &
Options:

1) more

arftres

2) less

-

3) same

T8

4) depending upon the shape of the body
T @ SPI F AN TT

Correct Answer: same

e
Candidate Answer: [ NOT ANSWERED |

QID : 574 - The wetted perimeter for a pipe running full of water is equal to: Where d is the diameter of the pipe.

T ¥ 9 T ure % oy A oy S e e i we d sy s e s

Options:
1) nd/2

2) 2nd
3)nd

46
Correct Answer: nd
Candidate Answer: [ NOT ANSWERED |

QID : 575 - Metacentric height is the distance between

erifce SaTE, T el B arE $ gl el
Options:

1) CG of body and centre of pressure
TN 3 5919 & Hw B

2) CG of body and the metacentre

TN T W SR deniey

3) CG of body and centre of buoyancy
IR o 99TE % &5 @ Tl

4) None of these

T8 | F1E A

Correct Answer: CG of body and the metacentre
TN T A O deriey

Candidate Answer: [ NOT ANSWERED |

QID : 576 - Surface tension is caused by the force of at the free surface.

A T g GaE TR % e & SO A &
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Options:
1) Cohesion
AR
2) adhesion
TEEHA
3) both cohesion and adhesion
FTiraA oY TEEE qH
4) None of these
A A B AE
Correct Answer: Cohesion

Eaninie
Candidate Answer: [ NOT ANSWERED |

QID : 577 - The intensity of pressure in a liquid due its depth will, vary with depth:

avE ¥ Zara & Fgdn o G g TN § el ¥, e % g ey ave 9§ qeern
Options:

1) directly

e

2) indirectly

e W ¥

3) Both directly and directly
wirer s« S

4) None of these

T | B A8l

Correct Answer: directly
ey

Candidate Answer: directly
e

QID : 578 - The metacentric height of sailing ships is

ST Wl B YercE s 9 gl g
Options:

1)045mto1.25m
045m¥1.25m

2) 1.5mto 3.5m

1.5m ¥ 3.5m

3)0.25mto0.35m
0.25m%0.35m

4)5mto7.5m

5m¥7.5m

Correct Answer: 0.45mto 1.25m
045m¥1.25m

Candidate Answer: [ NOT ANSWERED |

QID : 579 - The discharge through a pipe can be measured with

T q5Y P AT ¥ fHan T T S Wi 6 o Wl &
Options:

1) a venturimeter

TH

2) an orificemeter

TH

3) a flow nozzle

TH HATE el

4) All option are correct

ot ferreg et €

Correct Answer: All option are correct
weft frser wd £

Candidate Answer: a venturimeter

TH degi ey

QID : 580 - According to Nikuradse's the boundary behaves hydrodynamically smooth when

gl & oTTe Wl B STE AT W ¥ H77 e 09 B3al & ud

Options:
1) (k/6)=10

2) (k/8)>0.25
3) (k/6)<0.25

4) (k/6)<8
Correct Answer: (k/6)<0.25
Candidate Answer: [ NOT ANSWERED |

QID : 581 - The coefficient of friction in term or Reynold's number is

arafly 1 YTege w ¥ wor % s 98 g
Options:
1) 16/Re
2) 32/Re
3) 8/Re
4) 10/Re
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Correct Answer: 16/Re
Candidate Answer: [ NOT ANSWERED |

QID : 582 - The maximum velocity of an airplane in steady level flight will occur at an angle of attack of

TRy W% & TS W T 5418 Ve $i ARIETH T 59 ATHH T T B0 I% B
Options:
1) 20.5°

2) 18.50
3)22.5°

4) 26.5°
Correct Answer: 20.5°
Candidate Answer: [ NOT ANSWERED |

QID : 583 - The wave produced due to surface tension in a shallow channel is known as

TF TYE A T HAS TG T PN I @eY P 5H WY T AN AW R
Options:
1) gravity wave
GERS

2) capillary wave

LEES
3) elastic wave
wAEETE T4
4) None of these
FTH A FE AL
Correct Answer: capillary wave
e T
Candidate Answer: [ NOT ANSWERED |

QID : 584 - Which one of the following is an axial flow turbine?

Friferfad  § S 61 16 A&IT FaTE evarsy 87
Options:

1) Pelton wheel

ez =i

2) Francis turbine

wiTHH examgT

3) Kaplan turbine

T ETETEA

4) None of these

ZTH b FE E

Correct Answer: Kaplan turbine

T EvEEA

Candidate Answer: [ NOT ANSWERED |

QID : 585 -

The unit power of a turbine is equal to

TES DI 5BTs DI Yfdd 5HD G2a o

Options:
1) (@)

2)(b)
3) (c)
4) (d)

Correct Answer: (¢ )
Candidate Answer: | NOT ANSWERED |

QID : 586 - Pseudo plastic is a fluid for which

T[E| Wlies UH 54 & foad fan
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Options:
1) dynamic viscosity decreases as the rate of shear increases
wfirefier frep T, el 9@ 1 &¥ @ FIHIR 0e A &
2) Newton's law of viscosity holds good
e % fareptiad &1 e wdl & e ¥
3) dynamic viscosity increases as the rate of shear increases
Tfyefer frep et Fav 5+ 1 2T F ITEN 7g Wl ¥
4) dynamic viscosity increases with the time for which shearing forces are applied
Tferefier fawpifadt 9 W & Wy agar & s fay Faeh aa ampew ¥
Correct Answer: dynamic viscosity decreases as the rate of shear increases
iferefier fmp e, wav=i =g~ H 3¢ F TGN T A

Candidate Answer: [ NOT ANSWERED ]

QID : 587 -

Match List | with List Il and Select the correct answer
using the codes given below the lists.

Tl 1| & w9 gl | &1 A & 3R A R S @

UL Hb Ft SR I
List 1 List Il
it gl
A | Lubrication 1 | Capillary
S

B | Riseof sapintrees | 2 | Vapour Pressure
gei H U HT 3 aT] &I gad
C | Formation of droplets | 3 | Viscosity

jal 1 fafo

dal @l
D | Cavitation 4 | Surface tension
Hdg d-1d
Options:

1) A-2; B-4; C-1; D-3
2) A-3;B-4;C-1;D-2
3) A-2;B-1;C-4; D3

4) A-3; B-1; C-4; D-2
Correct Answer: A-3; B-1; C-4; D-2
Candidate Answer: A-3; B-1; C-4; D-2

QID : 588 - Centrifugal pumps have which of the following advantages?

1. Low initial cost
2. Compact, occupying less floor space
3. Easy handling of highly viscous fluids

Select the correct answer using the codes given below.
FRTIHNE TR F Fr § S w2

1. &H WS @rrd
2. TiRiee, T T W I HEal
3.areferss faufat avet wnaf @1 s weTEA|

13 fy Y T T IUA FE G T G|
Options:

1)1,2and 3

1,233

2)1and2

13N 2

3)1and3

13v3

4)2and 3

23N3

Correct Answer: 2 and 2
2 4R 3

Candidate Answer: [ NOT ANSWERED ]

QID : 589 - What is the unit of dynamic viscosity of a fluid termed 'poise’ equivalent to?

TE A TE1E o MhEiiel REwTaa @1 A T e A Hal ol 67
Options:
1) dyne/em?

2) gs/cm
3) dyne-s/cm?
4) g-cm/sec
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Correct Answer: dyne-s/cm?

Candidate Answer: [ NOT ANSWERED |

QID : 590 - Which one of the following conditions will linearize the Navier — Stokes equations to make it amenable for analytical solutions?

Frrfafas et 4 & 29 § Af-wew g S freeromee gt & fae wam 79 & foag YRasvo fear smem?
Options:

1) Low Reynolds number (Re << 1)

e YTeed Hw (Re << 1)

2) High Reynolds number (Re == 1)

T IHloed He (Re== 1)

3) Low Mach Number (M <<1)

A e (M << 1)

4) High Mach Number (M >> 1)

I 79 = (M == 1)

Correct Answer: Low Mach Number (M <<1)
o g wEr (M << 1)

Candidate Answer: [ NOT ANSWERED ]

QID : 591 - Which of the following advantages is/are possessed by a Kaplan turbine over a Francis turbine?

1. Low frictional losses
2. Part load efficiency is considerably high
3. More compact and smaller in size

Select the correct answer using the codes given below.
W eXaTg IX e exaTse & FreaiEs 1 9w @ s §7

1. 9 g JHeH
2. 9T I ST FIET SF #
3. AR # e s AR e

=) fy 7 FTe H IUA FRE W T G
Options:

1) Only 1

Pae 1

2)1and 2

4)1,2and 3
1,23%3

Correct Answer: 1,2 and 3
1,243

Candidate Answer: [ NOT ANSWERED |

QID : 592 - The stream function y = x3- y3 is observed for a two dimensional flow field. What is the magnitude of the velocity at point (1, -1)?

W shaer @ = x5 y3 < sraredt wate g @ ferg s wren & 118 (1, 1) 9% 2 B Fraar w7
Options:
1) 4.24

2) 2.83
3)0

4)-2.83
Correct Answer: 4.24
Candidate Answer: [ NOT ANSWERED |

QID : 593 - Non uniform flow ocours when

R T waTE 99 BT W

Options:

1) the direction and magnitude of the velocity at all points are identical

st firgalt wv 3 &Y feam sfw wftamor s &

2) the velocity of successive fluid particles, at any point, is the same at successive periods of time
TR %9 SO &1 te, femed 1 oft o7, ergentes w0 o W et 2

3) the magnitude and direction of the velocity do not change from point to point in the fluid
Y ufT air fre ave watef ¥ ve fig W gEY O T agerdt ¥

4) velocity, depth, pressure etc., change from point to point in the fluid flow

T, TETE, AT Ot T A A o9 fig W gy fig T age o #

Correct Answer: velocity, depth, pressure etc., change from point to point in the fluid flow
T, TR, ST a1, 74 WA 6 U g ¥ g g A age e §

Candidate Answer: [ NOT ANSWERED |

QID : 594 - The length of divergent portion of venturimeter in comparison to convergent portion is

SAERT 9T 1 e A degaesiiet & e 9 6 oS BRil e
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Options:
1) same
A
2) more
arftre
3) less
FH
4) more or less depending on capacity
arfires 1 W, & UR R B E
Correct Answer: more
arfire

Candidate Answer: more

sfy®

QID : 595 - In order that flow takes place between two points in a pipeling, the differential pressure between these points must be more than

TE M Torer o WaTe U@ gy aiga § a1 [9ga & 99 v &, 59 fga & 9 oia% suE 59 afye e aney
Options:

1) frictional force

YT g

2) viscosity

3) surface friction
HeE! =

4) All option are correct
| fawer wd

Correct Answer: All option are correct

ot ey wet &
Candidate Answer: [ NOT ANSWERED |

QID : 596 - Head developed by a centrifugal pump depends on

TH TEITHRS 79 g1 fowtag &s R EmT# |
Options:
1) impeller diameter

TR @
2) speed
fey

3) fluid density
ELR-Ei]
4) Both impeller diameter and speed

geire = Al iy BT

Correct Answer: Both impeller diameter and speed
FRIEY T AR TR ST

Candidate Answer: [ NOT ANSWERED |

QID : 597 - Low specific speed of turbine implies it is

zXarE it o fafre nfy s e & e e
Options:

1) propeller turbine

HIER eeared

2) Francis turbine

Wi eXaTe

3) impulse turbine

TR TS

4) None of these

T ¥ I A8l

Correct Answer: impulse turbine

T TTETEA

Candidate Answer: [ NOT ANSWERED |
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QID : 598 -
The figure given below shows the relationship between
power (P) and discharge (Q) for different vane exit
angles of centrifugal pump. In the figure given below,
curve B holds good for:

H2 fu e i s, F=IuuR® YU & fafis 34 ufiere
HIU S AU UER (P) R fF=™ (Q) F 39 F Ty
%ﬁaﬁﬁﬁ%l R Ed aw ety s v e

| Curve C

—aQ

Options:
1) vane exit angle of 90°
90° %1 4 wivure Ho

2) vane exit angle of less than 90°
90 fetft & &0 &1 &9 vivae s

3) vane exit angle of more than 90°

90 f&tit % aAfere 1 o vivae o

4) any vane exit angle

B8 1 99 e 3

Correct Answer: vane exit angle of 90°
90° &1 99 TinAe H

Candidate Answer: [ NOT ANSWERED |

QID : 599 - The specific speed of a turbine is the speed of such a turbine, identical with a given turbine, which

ATz o faferse wfy el evarga &1 wfa &, & 1 7 evaed & waE e
Options:

1) develops unit power under unit head

e ¥S P TEG e UTER H famaa s ¥

2) develops unit power under unit discharge

goTd Frded % Ted e Tiied o s

3) develops unit speed under unit head

e &8 & 78 g1e wie o faefaa ava &

4) delivers unit discharge under unit head

Ife 8% % T8d ATHS FTEd S §

Correct Answer: develops unit power under unit head

e &8 & T8 g1e TEY o faefha avar &
Candidate Answer: [ NOT ANSWERED |

QID : 600 - In reaction turbine

wfirfimar evargT

Options:

1) kinetic energy is appreciable as the fluid leaves the runner and enters draft tube
ST 81 59 I OIS o1 § 3K §ITE SgF 4 WaE @l & 08 SIgAied Gl 7 &
2) the vanes are partly filled

7 aifers U HYEY E

3) total energy of fluid is converted ic kinetic energy in the runner

q & Fo St I A wrgAfes sul ¥ uRafia g ww

4) it is not exposed to atmosphers

T TTATER & Wb H El S e

Correct Answer: it is not exposed to atmosphere

T AR < o 7 el ey A €

Candidate Answer: [ NOT ANSWERED |
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